
5 MM Dia M.S. rods for net @ .085 M c/c

30 X 20 X 3 MM Angle iron frame

              Data for 1 piece of mesh in size 0.80 X 0.80 M

(a) 30 X 20 X 3 MM Angle iron frame :-

Vertical Frame     -2 X 0.80 = 1.60

Horizontal Frame -2 X 0.80 = 1.60

      3.20 M X 1.10 Kg/M = 3.52 Kg

(b) 5 MM Dia M.S. rods Vertical and Horizontal net :-

 Vertical               - 9 X 0.80 = 7.20

Horizontal           - 9 X 0.80 = 7.20

        14.40 M X 0.154 Kg/M = 2.217 Kg

  5.737

               add 5 % wastage      0.286

  6.023 Kg

Details of one piece of mesh
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